
SPECIMEN PAPER 1 (With 8olutlon) 

ITime: 3 Houra] [ Maximum Marka: ReG 

Noter 
(1) All iesttons ne omplsoru 

(2) Drau tablen /dtingrams hereer neressar
Pgures to the nght indirate full mark 

() Write answere to all question on new prugPs.

Q.1 (A) Choose the correct option. 
(0 

he branch of economics that dealn with the allocation of resoirces (d) None of these 

iv) None of thesa (a) Micro economic (b) Macro economies (e)
conometries 

Options: ) a, b andc (i) a andh 
Hij only a 

2Homogeneous product is n feature of this market. 

(a) Monopoly 

(b) Monopolistic competition 

(d) Oligopoly 
(c) Perfect competition

Options: (i) c and d 

iv) onlyc 
(ii) a, b and c (ii) a, c and d 

(3) Statements that are incorrect in relation to index numbers. 

(a) Index number is a geographical tooL. 

(b) Index numbers measure changes in the air pressure

cndex numbers measure relative changes in an 
economic variable 

(d) Index numbers are specialized averages. 

Options i c and d (i) a andb fii) b and iv) a and d 

(4) Trends shown by Public expenditure of any
Government shows following trend. 

(a) Constant
(c) Decreasing (d) Fluctuating 

(b) Increasing 

i) only b (tii) only c (iv) onlyd 

Options: ) only a 

(5) Role of foreign trade is 
. 

(a) To eam foreign exchange

(b) To encourage 
investment 

(c) Lead to division of labour 

(d) Bring change in composition of exports 

Options: (i) a and b 

Ans.(1) (ii) only a (2) (i) cand d (3) () a and b (4) (iv) only d 
fii) a, b and c (tii) b and d iv) None of these 

(5) (ii) a, b and c 

Marking Scheme: 1 mark for each correct answer 

Q.1 (B) Complete the correlation. 

(1) Money market : Short term funds::_ 

(2) Straight line demand curve : Linear demand curve :: 

demand curve. 

(05) 
: Long term funds 

:Non linear 

(3) Demand curve. 
(4) Laaspeyre's index. 
(5) 

Supply curve :Upward. 
: Paasche's index: Current year quantities. 

:C+I+G + (X -M):: GNP: C +I +G+ (X - M) + (R - P). 

Ans. (1) Capital Market 

(4) Base year quantities 

(2) Convex to origin (3) Downward

(5) GDP 

Marking Scheme: 1 mark for each correct answer



Q.1 (C) Fnd the odd word. 

1) Types of Bank Accounts: Saving A/c, Demat A/e, Recurring Afc, Current A/c 

2Market structure on the basis of competition: Monopoly, Oligopoly, Very shor Period market, Perfect competition. 

3 Financial Assets: Bonds, Land, Govt. Securities, Derivatives. 
14) Single seller,price maker , no close substitute, advertising 
(5) GST, Fees, Fine, Gifts. 

Ans. (1) Recurring A/c (2) Very short period market 

(4) Advertising 

(06) 

Ans. (3) Land 
(5) GST 

Marking Scheme:1 mark for each correct answer
0.1 (D) Complete the following statements. 

(1) Development financial institutions were established to _ 
(a) provide short term funds.

(b) develop industry, agriculture and other key sectors.
(c) regulate the money market.

(d) regulate the capital market.

(05) 

(2) While estimating national income, we include only value of final goods and services
in order to the nation 
(a) make computation easier 

(b) avoid double counting

(c) maximize national welfare of the people 
(d) evahuate the total economic performance 

(3) Net addition made to the total revenue by selling an extra unit of a commodity 
Is 

(a) Total Revenue (b) Marginal Revenue
(d) Marginal Cost.(c) Average Revenue

(4) Point of Satiety means

(a) TU is rising and MU is falling (b) TU is falling and MU is negative

(C) TU is maximum and MU is zero (d) MU is faling and TU is rising9.

(5) Commercial banks act as intermediaries in the financial system to . 
(a) make profits 

(b) accelerate the country's economic growth.

(c) mobilize th� savings and allocating them to various sectors of the economy.

(d) control the credit.

Ans. () (b) (2) (b) (3)(b) (4) (c) (5) (c)

Marking Scheme:1 markforeachcorrectanswer
9.2 (A) Identify and explain the concepts (Any three).
() Vrinda receives monthly pension of 75,000/- from the State Government. 

Ans. Transfer payments. On one hand they are a part of individual income and on the 
other hand, they are part of Government expenditure. 

(2) Shabana studied the salaries of the employees in her company. 
Ans. Micro economics. Micro economics thus deals with a small part of the national 

(06) 

economy.
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